
  3   

1 

     Powered by

     
 

  2563 (TEDET) 

  3 

-   
 

 
 
 
1. 
  ( )    

         
  750   
  
 
 
 
 
2.  (1010+25)2-(1010-25)2=10n  n  
  n 
 
 
 
 
3.  k   
  y=-3x+5(1-2k)  

  X  ( 4
3 , 0)  Y  (0, h)  

  h     
 
 

4.  x=b  y=0  -2x+y=5 
  x+3y=a  a  b   
  a-b 
 
 
 
 
 
 
 
5.   
     y=-x2-4x-5  

 

 

 

 
    

 

 

 

 
    

 

 

  

 
 
 
 
 
 

 

1.   30  
2.  

 
3.   

 3      
4.  90  



  3   

2 

     Powered by

6.    
 2   3  
   2  
   
  
 
 
 
 
 
 
7.   
 40    

    
  155  
  160    
 
 
 
 
 
 
8.  
 
 
 
 
 
   O   
 OB=5   AH=2 6    
  HP   
 
 
 

9.  
 
 
 
 
  A'B'C  
  ABC  30o   
  C   B'  A  A'  
                 
  x  
 
 
 
 
 
 
 
 
10.  
     
  83  87   89  
   
  88    
   
 
 
 
 
 
 
 
 
11.  6   
    
   
  
 
 
 
 
 
 



  3   

3 

     Powered by

12.  x+2  x2+Ax-2    
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14.  –   
   10   11  

          (1 | 4  14 ) 
 (10 )   (11 ) 

7  7  6 0 1  3  8 
5  4  4  1 1 0  2  3  8 

1  1  0 2 4  5  8  9 
8  7  4  2  2 3 1  6  7 

8  7  2  1 4 3  3  5  6 
6  6  5 5 0  2  4 

7  1  1  0 6 2  4  5  5  9 
0 7 1  6  6 
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18.  0 < x < 1 
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  y=a(x-3)2-2  
   a  0 < a < k  
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24.  (1+x-y)2-(x+y)2=-15  x  y  
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25.  ABC   D, E, F   
 AB, BC , CA    AD : DB=3 : 1,  

 BE : EC=1 : 3, CF : FA=3 : 1  G  DF  
  DG : GF=3 : 1 
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